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Ae: () FYE I AR S, 99 5 2 el UlT & 3 G5

. Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) ¥eIF 97 G 7 B HHGR UF G 5T 2 )

Solve all parts of a question consecutively together.
(iii) 4% 577 F 79 Y8 @ IRE] FHord |

Start each question on fresh page.
(iv) &1 1371 7 37 517 %1 1R 7 i srqare & T & |

Only English version is valid in case of difference in both the languages.

L () weniEE g sfharfen Ssimaeh @ fada fm forfag |
Write down second law of thermodynamics stated by clausius.
(i) 39 I BT T AT G TR |
Draw p-v diagram for dual cycle.
(iil) 9 H e A T A R 7
What do you mean by enthalpy of gas ?
(iv) 9T 97 HUieT 61 Eafie e&rar i augmsT |
Explain volumetric efficiency of reciprocating air COmMpressor.

(v) wrer fafdre e eman i wRefa $ifve, so 361 fafaw |

Define Molar specific heat capacity & write its unit. (2x5)

(10of4) P.T.O.
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gfifsa oy & 3irenfies swm fafaa |
Write down Industrial uses of compressed air.
TR T ST AHETST |

Explain classification of boilers. (6+6)

T = W LIeie 9 Bl T AR ST FHSEY |
Draw a sketch of four stroke diesel engine and explain its working.
15 .70, 1 35 °C TR | 15 bar T § 250 °C A9H Freft w19 # whafda w

¥ STETEH FT Hl AT HIAC G4 WY FT A A hif | ste1 61 fafdre

S = 4.2 ki/kg K w9 & fo@ = €, 2.1 ki/kg K

15 kg water is at 35 °C. Calculate the heat required to convert it into steam at
250 °C temp. at 15 bar pressure also find the volume of steam. Take specific heat
of water = 4.2 kI/kg K, C, for steam = 2.1 kJ /kg K. : (6+6)

e Taue v i ary gt @1 fo sare Sref HesT |
Sketch a two stages reciprocating air compressor and explain its working.

STISEA 39 % Waer vq T uitE= fafyr st fomr gro wmsse |

Explain with sketch the pump circulation cooling system of an L.C. engine. (6+6)

1Y Wi 5k ¥, T THeTE 1 STl 8 ?

What assumptions are considered for air standard efficiency.

T Tt 1 TR g STEad § ATOHH HEE: 15 bar, 0.3 m3d€1350°C 8 | g6 i1
=1 fram P13 = C % @R yaria fan smar £, afe 1 @1 if<m 3mEad 1.2 m?
2, A e &1 wmn, | 5 < g 9 %a T ST | R HTHA = 0.287 ki/kg K
A gas has initial pressure, volume & temp. 15 bar, 0.3 m3 and 350 °C
respectively. The gas is expanded by law PV!-3 = C. The final volume of gas

is 1.2 m3 find the quantity of gas, final pressure of gas & work done. Take
R =0.287 kl/kg K. (6+6)

T e Ifh Wit g sieh TTeR 31T A <6l farfer awens |

Explain the method of finding brake power by Rope brake dynamometer.

UF IR TS Sise =k 1 We T 14 R TS % IO # g 1 bar T
YA 30 °C & 93k 1 AfUHaH d9AE 2700 °C 2 95 hl A1 HiAh Q&1 TG
Hifae |

The compression ratio of an air standard diesel engine cycle is 14. The initial
pressure is 1 bar and temp. 30 °C:The maximum temp. of cycle is 2700 °C,find
air standard efficiency. (6+6)
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7. () oIt S AU Siee $o H ST HHEST |
Explain difference between petrol engine & diesel engine.
(i) T 9 TH Sel g9 & whew § Fr g foe T gEe M@ 6 7 398
30 mm, FAF GEAT 20 kKN/m3/mm RISIvST 1 €I = 0.02 m3 $H HY =0

400 rpm T 3% WIT 1200 N ¥t 3 B2 0.6 m 357 < gfiwa Wi, 516 wfe
AT FiTeh g1 T HIT | ‘

In testing a diesel engine following results were observed mean height of
indicator diagram-30 mm spring No. 20 kN/m3/mm. cylinder stroke volume
0.02 m? speed of engine 400 rpm. Effective brake load 1200 N effective brake
radius 0.6 m. Find the indicated power, Brake Power and Mechanical efficiency
of engine. : (6+6)

8. o ux feouuft foafgm
Write short note on following :
() F=<Iee 3 i wied fafmt
Lubrication methods of I.C. engines
(i) ST ARH
Boiler Mountings (6x2)
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